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Teacher Answer Key

	Background Image
	Correct Function

	Xsqrd01.jpg
	
[image: image2.wmf](

)

(

)

2

235

fxx

=+-



	Xsqrd02.jpg
	
[image: image3.wmf](

)

(

)

2

234

fxx

=--+



	Xsqrd03.jpg
	
[image: image4.wmf](

)

(

)

2

222

fxx

=-+



	Xsqrd04.jpg
	
[image: image5.wmf](

)

(

)

2

312

fxx

=-+



	Xsqrd05.jpg
	
[image: image6.wmf](

)

(

)

2

414

fxx

=---



	Xsqrd06.jpg
	
[image: image7.wmf](

)

(

)

2

157

fxx

=--+



	Xsqrd07.jpg
	
[image: image8.wmf](

)

(

)

2

185

fxx

=--



	Xsqrd08.jpg
	
[image: image9.wmf](

)

(

)

2

582

fxx

=-++



	Xsqrd09.jpg
	
[image: image10.wmf](

)

(

)

2

713

fxx

=-+-



	Xsqrd10.jpg
	
[image: image11.wmf](

)

(

)

2

456

fxx

=--




_1190893314.unknown

_1190893364.unknown

_1190893413.unknown

_1190893452.unknown

_1190893596.unknown

_1190893432.unknown

_1190893391.unknown

_1190893337.unknown

_1190893278.unknown

_1190893294.unknown

_1190893228.unknown

